| | 1 | , ~ | | | | | |
|----|--|---|--|--|--|--|--|
| | | RECEIVED | | | | | |
| 1 | MICHAEL A. PANGELINAN, ESQ. | OFFICE OF PUBLIC ACCOUNTABILITY | | | | | |
| | JANALYNN CRUZ DAMIAN, ESQ. | BY: | | | | | |
| 2 | CALVO FISHER & JACOB LLP Attorneys at Law | DATE: | | | | | |
| 3 | 259 Martyr Street, Suite 100 Hagatna, Guam 96910 | TIME: DAM DPM | | | | | |
| 4 | Telephone No.: (671) 646-9355 | RECEIVED | | | | | |
| 5 | Facsimile No.: (671) 646-9403 | OFFICE OF PUBLIC ACCOUNTABILITY PROCUREMENT APPEALS | | | | | |
| 6 | Attorneys for Interested Party | DATE: 7/27/15 | | | | | |
| 7 | Docomo Pacific, Inc. | TIME: 4:59 DAM DPM BY: 2 | | | | | |
| 8 | OFFICE OF PUBLI | IC ACCOUNTABILITY O OPA-PA: 15 - 144 MENT APPEAL | | | | | |
| 9 | | | | | | | |
| 10 | In the Appeal of | DOCKET NO. OPA-PA-15-007 | | | | | |
| 11 | DA CITIC DATE A GLICOTTE ICO DA C | DECLARATION OF JAMES W. | | | | | |
| 12 | PACIFIC DATA SYSTEMS, INC. | HOFMAN, II IN SUPPORT OF DOCOMO PACIFIC, INC.'S | | | | | |
| 13 | Appellant. | COMMENTS TO GUAM POWER AUTHORITY'S AGENCY REPORT | | | | | |
| | | AUTHORITI S'AGENCI REFORT | | | | | |
| 14 | | | | | | | |
| 15 | I, JAMES W. HOFMAN, II, declare as fo | bllows: | | | | | |
| 16 | I am Chief Legal Officer for Inter- | rested Party Docomo Pacific, Inc. ("Docomo"). I | | | | | |
| 17 | make this declaration on personal knowledge, | and if called as a witness, I could and would | | | | | |
| 18 | competently testify thereto. | | | | | | |
| 19 | 2 I am also Chief Legal Officer of (| Fuom Talacom, I.I.C ("Guam Talacom") | | | | | |
| 20 | I am also Chief Legal Officer of Guam Telecom, LLC ("Guam Telecom"). Attached hereto as Exhibit 1 is a true and correct copy of a spreadsheet prepared bo | | | | | | |
| 21 | | | | | | | |
| 22 | | proposal for IFB GPA-072-14, which was included | | | | | |
| 23 | in Docomo's sealed Priced Proposal submitted to | GPA on October 24, 2014. | | | | | |
| 24 | I declare under penalty of perjury that the | foregoing is true and correct. | | | | | |
| 25 | Executed on July 27, 2015 at Tamuning, | Guam. | | | | | |
| | | | | | | | |
| 26 | | | | | | | |
| 27 | TAN | MES W. HOFMAN, II | | | | | |
| 28 | JAI | TIOTIMAT, II | | | | | |

Exhibit 1

| doco | | Invitation for Multi-Step Bid | | | | | | | | |
|---|---|--|-------------------------|----------|-------------|------|---|--|--|--|
| PACI 9 S. Marine Driv 1: 671.688.2355 | ve Ste 201 Tamuning, GU 96911 | | GPA-072 | 2-14 V | oice and | Data | Service | | | |
| | : GUAM POWER AUTHORITY | | DATE | : 24-Oct | :-14 | | | | | |
| EPANED FOR | P.O. Box 2977 | 1 | PREPARED BY | | - | | | | | |
| | Hagatna, GU 96932-2977 | TEL. NO.: 671.688.2355 x 2201 MOBILE NO.: 671.688.2484 EMAIL: mborja@docomopacific.com | | | | | | | | |
| ATTENTION | : Joaquin C. Flores, P.E. | | | | | | | | | |
| TEL. NO.: | | | | | | | | | | |
| FAX NO.: | | FAX NO.: 671.649.7247 BUSINESS SUPPORT: 671.688.2677 | | | | | | | | |
| EMAIL | OFFEROR INFO | | | . 071.00 | 10.2077 | | | | | |
| COMP | ANY NAME: DoCoMo Pacific | RIVIATION | | 16.15 | · | | | | | |
| | ADDRESS: 219 South Marine Drive Suite 206 Century P | laza Tamunin | ig, GU 96913 | | | | | | | |
| TELEPHONE NO.: 671.688.2355 | | | FACSIMILE: 671.649.7247 | | | | | | | |
| | CAGE: 1HRS9 | EIN: 66-0474074 | | | | | | | | |
| | DUNS: 855020830 | SIC: 4 | 4812 | V40.000 | | | | | | |
| ITEM NO. | A. VOICE AN DESCRIPTION | QTY | Unit | UNIT | PRICE/MRC | тот | AL AMOUNT | | | |
| | FAST E Fiber Optic Internet Services | | | | | | | | | |
| A1 | FAST E 30Mbps Symmetric Services | 1 | unit | \$ | 900.00 | \$ | 900.0 | | | |
| • | Location: Fadian | | | 1 | Annual | \$ | 10,800.0 | | | |
| • | Symmetric Connection Burstable rate \$30 per Mbps | | | | | | | | | |
| | FAST E Fiber Optic Internet Services | | 7 gr g | 4 25 25 | Antonio 1 | | | | | |
| A2 | FAST E 30Mbps Symmetric Services | 1 | unit | 5 | 900.00 | \$ | 900.0 | | | |
| MZ . | Location: Harmon | - | | 1 | Annual | \$ | 10,800.0 | | | |
| | Symmetric Connection | | | | | · | | | | |
| | Burstable rate \$30 per Mbps | | | 1 | | | | | | |
| 12 | CARRIER ETHERNET Services | | | | 71 | | 1.1.1.3.1 | | | |
| A3 | 10Mbps Carrier Ethernet | 2 | unit | \$ | 300.00 | \$ | 600.0 | | | |
| | Location: T&D Compound to Fadian | | | | Annual | \$ | 7,200.0 | | | |
| | Location: Cabras Compound to Fadian | | | | | | | | | |
| • | Symmetric Connection | | | | | | | | | |
| • | Burstable rate \$30 per Mbps | | | | | | | | | |
| | CARRIER ETHERNET Services | | 4 | | | 10 | | | | |
| A4 | 5Mbps Carrier Ethernet | 8 | unit | \$ | 175.00 | \$ | 1,400.0 | | | |
| • | Locations: | | | | Annual | \$ | 16,800. | | | |
| • | Julale Customer Service | | | | | | | | | |
| • | Tenjo Diesel Power Plant | | | | | 1 | | | | |
| • | Agana Substation | | | | | 1 | | | | |
| | Talofofo Diesel Substation | | | 1 | | | | | | |
| • | Apra Heights Substation | | | 1 | | | | | | |
| • | Potts Junction Power Pole | | | | | | | | | |
| • | Umatac Substation | | | | | 1 | | | | |
| • | Yigo Substation | | | | | | | | | |
| • | Symmetric Connection | | | | | | | | | |
| . A 10 1 50 1 1 | Burstable rate \$35 per Mbps | | | +- | | 100 | | | | |
| 45 | CARRIER ETHERNET Services | 1 | unit | 5 | 600.00 | \$ | 600. | | | |
| A5 | 30Mbps Carrier Ethernet Location: Macheche Substation to Fadian | *** | unit | 1 | Annual | 1 | 7,200. | | | |
| | Symmetric Connection | | | | ramour | ľ | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | |
| | Burstable rate \$20 per Mbps | | | 1 | | | | | | |
| | Mobile Data | - | | 1 | | 1 | | | | |
| A.C. | | 4 | unit | \$ | 29.50 | \$ | 118 | | | |
| A6 | Max Unlimited Data 4G LTE | 7 | J | 1 | Annual | | 1,416. | | | |
| - | Voice Telephone PRI Services | | | + | - Cimual | Ť | -,,20 | | | |
| A7 | PRI Services | 3 | unit | \$ | 431.76 | \$ | 1,295 | | | |
| A/ | Location: Fadian Facility | , | ann. | 1" | Annual | 1 | 15,543. | | | |
| | Voice Telephone PRI Services | | - | - | .,,,,,,,,,, | 1 | 2010-10 | | | |
| AR | PRI Services | 5 | unit | \$ | 431.76 | \$ | 2,158 | | | |
| AB | Locations: | | NINE. | - | Annual | | 25,905 | | | |
| | Harmon Main Office (3) | | 1 | | Aintal | 1 | 20,1-33 | | | |
| | firmular Mail Other (a) | 1 | 1 | 1 | | 1 | | | | |

Voice Telephone SIP Trunk Services

SIP Trunk Services
Location: Fadian Facility

35.98 431.76

17.99 \$ Annual \$

| doc | omo 🖨 🕕 🔿 🔇 | | Invitat | ion i | for Mul | ti-St | ep Bid | | |
|------------------------|--|--|--|--------------------|------------------------------------|---------|----------------|--|--|
| PAC 219 S. Marine D | TV MOBILE ONLINE PHONE rive Ste 201 Tamuning, GU 96911 | | GPA-072 | 2-14 V | oice and | Data | Service | | |
| Tel: 671.688.23 | 55 Fax: 671.649.7247 | _ | | | | | - 1 | | |
| | R: GUAM POWER AUTHORITY | | DATE | : 24-Oc | t-14 | | | | |
| PREPARED FC | P.O. Box 2977 | PREPARED BY: Marilyn Borja | | | | | | | |
| | P.O. Box 2977 Hagatna, GU 96932-2977 TEL. NO.: 671.688.2355 x 2201 | | | | | | | | |
| ATTENTIO | N: Joaquin C. Flores, P.E. | | O.: 671.688.2355 x 2201 | | | | | | |
| TEL. N | | EMAIL: mborja@docomopacific.com FAX NO.: 671.649.7247 BUSINESS SUPPORT: 671.688.2677 | | | | | | | |
| FAX N | Water and the second se | | | | | | | | |
| EMA | - | | | | | | | | |
| LIVIA | ller | _ | | - | | | | | |
| | Voice Telephone SIP Trunk Services | | | 100 | | | | | |
| A10 | SIP Trunk Services | 2 | unit | \$ | 17.99 | \$ | 35.98 | | |
| | Location: Harmon | | | | Annual | \$ | 431.76 | | |
| | Analog Telephone Services | | | | | | | | |
| A11 | POTS Lines | 15 | unit | \$ | 17.99 | \$ | 269.85 | | |
| | Location: Fadian Facility | | | | Annual | \$ | 3,238.20 | | |
| 1. 10 0. 1 | Analog Telephone Services | | | | | 14.75 | | | |
| A12 | POTS Lines | 43 | unit | \$ | 17.99 | \$ | 773.57 | | |
| | Locations: | | | | Annual | \$ | 9,282.84 | | |
| | Harmon Main Office (15) | | | | | | | | |
| | T&D Compound (7) | | | | | | - 1 | | |
| | Cabras Compound (19) | | | 1 | | | - 1 | | |
| | Tenjo Diesel (1) | | | 1 | | 1 | - 1 | | |
| | Julale Customer Services (1) | | | | | | 1 | | |
| | DID Numbers | | 77.77 | | | 1110 | 0 7 7 7 | | |
| A13 | DID Numbers | 700 | unit | \$ | 0.10 | \$ | 70.00 | | |
| ATS | \$2.50 for block of 25 (total 28 blocks) | 700 | | 1 | Annual | 1 | 840.00 | | |
| | \$2.50 for block of 25 (total 28 blocks) | | Total | Monti | nly Charge | \$ | 9,157.46 | | |
| | Total Annual Charge | | | | | | | | |
| | B. OPTIONAL BID: VOICE AND D | ATA CEE | And in case of the last of the | ACCRECATE VALUE OF | THE RESERVE OF THE PERSON NAMED IN | \$ | 109,889.52 | | |
| | | | Unit | | T PRICE/MRC | TO | TAL AMOUNT | | |
| ITEM NO. | DESCRIPTION | QTY | unit | \$ | 100.00 | - | 100.00 | | |
| B1 | Additional 5Mbps Added | 1 | unit | 3 | Annual | 1. | 1,200.00 | | |
| | Louis automobile service | 1 | unit | \$ | 29,50 | 1 . | 29.50 | | |
| B2 | Additional Mobile Data 4G | 1 2 | unit | 13 | Annual | 1. | 354.00 | | |
| | S. m. C. Sancti | 1 | unit | \$ | 431.76 | 1. | 431.76 | | |
| В3 | Additional PRI Line | 1 | unit | 13 | Annual | 1 | 5,181.12 | | |
| | | 1 | unit | s | 17.99 | | 17.99 | | |
| B4 | Additional SIP Trunk Line | 1 2 | unit | 1 | Annual | 1 | 215.88 | | |
| | a Citation of property Class | 1 | unit | 5 | 17.99 | 1 | 17.99 | | |
| 85 | Additional POTS Line | 1 | unit | 1 | Annual | 1 | 215.88 | | |
| | A diluteration of the | 1 | unit | S | 0.10 | | 0.10 | | |
| B6 | Additional DID Line | 1 | - unit | 1 | Annua | 1. | 1.20 | | |
| | | N. D. Delle Marie | CONTRACTOR OF CO | | Attitud | | | | |
| | of proceedings and the second second second | | | | | | | | |
| The informat | ion and rates shown on this proposal shall not be disclosed to any | third partie | 5. | | | | | | |
| This proposal | has been reviewed and accepted by the authorized individuals lisd the terms and conditions stated in the attached Business Service | ted below in Agreement | n accordance t t. | o the te | erms and con | ditions | stated on this | | |
| - | | | | | | | | | |
| 1 | | | | | | | | | |
| | Presented By: Marilyn Borja | | Dat | e: | 10 | /24/20 | 014 | | |
| | DOCOMO PACIFIC | | | | | | | | |
| 1 | | | | | | | | | |